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. HEREH X O/ E F(r) £ 35, 202 E UFOMWIZEZ XK.
(a) P(X =a) = F(a) — F(a—0) BBV NDZ & &5RE. (Fla—0) IXEMEMEZ £
)

(b) F(z) M rx=a CHFETHZ L E, P(X =a) =0 ZxrE.

CMERE X OB E F(r) & U, F(r) IREG2EKRE TS 20 Y =X2 0
N E F 2w TERbE.

CHERZH X ONMBNE F(r) £ 952 %, LN Y XK.
(F1) 7y <29 B OIE F(xy) < F(x9)
(F2) F(x+0) = F(x)

CMERZ X, Xy, Xy OFEIRDAEEE F(r,1,23) = P(X) < 21, Xy < 29, X3 <
x3), X; OEASAEEE F(r) = P(X; < x) (i = 1,2,3) &35, ZD&E,
X1, Xy, X3 DS TH 2 720 DBEADEMFIIMERD 21, 19, 23 (TR UT Fay, 29, 73) =
Fi(x)Fy(xo) F3(23) TH D Z & ZmRE.



